
K
1

F

G

H

4.1460.0991

KE          / Tacoma CC 2016 -

18

1

1

E

K

B C

A B

A B

B C

B C

B C

J

D

F

A B

A B

A B

A B
H

B C

B C

G

I

A BA B

A B

A B

A B

I

J

1

1

E

D

Rear

Trasera

Front

Delantera

Hexagonal Bolt M8 x 1,25 x 25
Tornillo Hex. M8 x 1,25 x 25
 

A
12

B Flat Washer M8 x 2,0 x 24
Arandela Lisa M8 x 2,0 x 24

6
C Hexagonal Nut M8 x 1,25

Tuerca Hex. M8 x 1,25

Left Side Front Support
Soporte Izquierdo Frontal 1

1

1

Right Side Front Support
Soporte Derecho Frontal

Left Side Center Support
Soporte Izquierdo Central

Right Side Center Support
Soporte Derecho Central

Left Side Rear Support
Soporte Izquierdo Trasero

Right Side Rear Support
Soporte Derecho Trasero

Left Side Step
Estribo Izquierdo

Right Side Step
Estribo Derecho

Rev. 00 - 22/09/2020

INSTALLATION INSTRUCTIONS
MANUAL DE INSTALACIÓN

My Road Side Step | Estribo My Road

COMPONENTS | Componentes

DTOOLS | Herramientas

Wrench 13
Llave 13

Torquemeter with 13mm socket
Llave de torsión con casquillo 13

693



4

1

D

A
B

D F H

2 3

A
B

H

4

A
B

F

5

25 (N.m)
18.5 (lb.ft)

Torque of
Par de

25 (N.m)
18.5 (lb.ft)

Torque of
Par de

25 (N.m)
18.5 (lb.ft)

Torque of
Par de

INSTALLATION INSTRUCTIONS | Instrucciones de Instalación

Left side support and step bar fixing detail. Same procedure for the right side.



25 (N.m)

Torque de
Torque of 

Par de

B

A

67

B

C

6

=

25 (N.m)
18.5 (lb.ft)

 Torque of
Par de

INSTALLATION INSTRUCTIONS | Instrucciones de Instalación



WARRANTY / GARANTÍA

CUSTOMER SERVICE

kekousa@kekousa.com
1-855-476-3893


